= AH O
N = 0 &8 AF S & Al A
20120 20M sSSXAPRILHAILSEESH JA
2M: EXNRXE
HH: 3 =4 L 2 (R ELXS L /A ])
S s3SHA a28 2e(sSNAEZHAILELES|H) (&2 &
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
ENSXE 8,019,000 5,596,000 2,423,000
2 996,000
o= 53,000
Al 6,970,000
S3HUX 24 & S (ZELXSINL/AH ) 8,019,000 5,596,000 2,423,000
= 996,000
< 53,000
Al 6,970,000
sa3HX 828 22 (sSANPFELEALSLEIA) 8,019,000 5,596,000 2,423,000
z 996,000
< 53,000
Al 6,970,000
SZHXAIEH 6,817,000 1,496,000 5,321,000
101 2124 H| 19,786 18,900 886
4 IIZtHZ2Z2XNSES 19,786 18,900 886
OsZ2ZHX JI24 &
36,6402 » 182 » 3 * KIHCHX 9,893
Os28X ME=Y
36,640 » 18 3% x 5IHCHX| 9,893
201 LEtRHH| 33,820 30,378 3,442
01 AF22t2lH] 28,960 27,020 1,940
OJlg AREE 22 20,0008 * 49 * 12& 960
OsZ2CK JI2s =2l 90,000& * 2007| 18,000
O REESBCA BEL210 =22
2,000,0002 * 2 A2 * 23] 8,000
OFNMs3YA HESLHM2I & i 282
2 2,000
—EX,HE ANEE
1,000,000 * 20§ 2= D& 2,000
02 83329 4,860 3,358 1,502
o231l 4,860
—2A2ARA RSB 120,000& * 12& 1,440
—-sg8% MIe= 70,000 * 68 420
—alE DR MIIRZ 100,0008 * 12€ 1,200
— 224 MI|adl ot e HEH]
150,000& * 12& 1,800
202 044l 10,440 10,440 0
01 2LHN b 10,440 10,440 0
OsZ2IF7eY d2=8 0| 10,440
—ZLHOd I 20,0002 » 3% » 42 » 128 2,880
— 22|04l 70,0002 » 3 x 32 » 12& 7,560
206 M 24l 500 500 0
01 &4l 500 500 0




2N EXSIE
HE: STOA X4 YL SY(IEUXANL/AMAET)
o9 STEX S8 2ol(SBUTELALSESI) (Sl &)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
OsZHX B3I I 2L (MER S 53)
50,0008 * 5% * 23l 500
311 X+ 30 KHat & 85,056 105,000 A19,944
02 Al - 2+ BRSNS 201 X4 &t 85,056 105,000 ~19,944
OS4=ZONELAY XYM A& 0% 85,056
—20061 X! oy
3,000,000,0002! * 3.5/100 * 157/365 45, 165
—20061 Xt ol
2,000,000,0002! * 3.5/100 * 208/365 39,891
401 Al&HIL 2 THY| 109,000 90,000 9,000
01 Al& 8] 109,000 90,000 9,000
OSZHX JIgAILS 22l
18,000,00020 * 141 * 5)HEHX 90,000
OUHSTNLHE B SA(HAHSTEX)
19,000,0002 * 14} 19,000
601 Xt 2RS4 1,200,000 0 1,200,000
A2 RNANLISAYS A4S 1,200,000 0 1,200,000
OS4ASTONZLAY MY s 1,000,000
—2006X QR 2 FIIAEH(24 DX =0
3 2 YA 2012 3B A E)
1,000,000,0008 * 14! 1,000,000
Q206X+ /2 1XH4 &
2,000,000,0002! * 1/10 200,000
801 0l bl bl 5,358,398 1,240,782 4,117,616
01 OiIHI ] 5,358,398 1,240,782 4,117,616
SITEI 5,358,398,0002 * 14! 5,358,398
STEXALIUI(2) 1,202,000 0 1,202,000
z 996,000
= 53,000
Al 153,000
402 212 XH2 01 & 1,202,000 0 1,202,000
z 996,000
= 53,000
Al 153,000
01 QIR B X 1,202,000 0 1,202,000
OSZGX ZHAQ  1,202,000,0002 * 1A 1,202,000
z 996,000
= 53,000
Al 153,000




